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THE 160-METER BAND




WHAT IS GROUND CONDUCTIVITY®
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EFFECTS OF CONDUCTIVITY ON /

PROPAGATION




INVERSE DISTANCE FIELD
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A TYPICAL 160-METER ANTENNA




VERTICAL PLANE PATTERN OF AN 80-
FOOT MONOPOLE




M3 Map of Colorado
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“w s 2 4 rerees L1 Typical Measured
NN KCHN Conductivity Graph

310 Deg. Radial
Non-Directional
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kil Typical Measured
s Conductivity Graph

330 Deg. Radial
Non-Directional

651.0 mV/m
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KLDI - Laramie, WY 125
Degree Measurements

KLDI
H 125 DEG.
NON-DIRECTIONAL
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KLDI - Laramie, WY 145
Degree Measurements

KLDI
g 145 DEG.
NON-DIRECTIONAL
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KLDI - Laramie, WY 165
Degree Measurements

KLDI
g 165 DEG.
NON-DIRECTIONAL
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Laramie, WY 185

Degree Measurements

KLDI -

185 DEG.
NON-DIRECTTIONAL




KLVZ — Ruby Hill Site — 310
Degree Measurements

KLVZ
310 DEG.
NON-DIRECTIONAL
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KLVZ — Ruby Hill Site -- 330
Degree Measurements
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To find the IDF for 100 So what difference
watts, divide 100 by

1000, take the square Esitin it i S it does it make?
root and multiply by . N il : :
the 1 kW IDF as follows: m For a ]OO-WCITT station using

: ' our hypothetical 80-foot
vertical, the distance to a 50

100 F e ‘ uV (S-9) field strength is:
1000x245 =77mV/m E :

15 mS/m -90 km (56 mi.)

To find the distance " B 1.5 mS/m - 32 km (19.8 mi.)

to 50 uV (0.05 mV)
on the graph, divide
S50 by 77/100, like this:

0 _ ea9ur
077 - orouv/m

Now find 64.9 uV
(0.064 mV) on the

graph.
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Ground conductivity makes a BIG difference in the
received groundwave signal over a given path.

Because it affects the amount of signal reflected, it
also has a significant effect on the received

skywave signal, but this can be overcome with @
good radial ground system.
Questions? /




